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· Under the premise of ethical absolutism one could argue that Sara is from a more evolved culture and thus should quit and work in a more advance work environment.
  She should quit because it is an unhealthy work environment.
  Sara Strong should quit the bank because the bank’s views do not correspond to the Ethic of Care. Instead of having a nurturing environment for its employees, females at the bank are demeaned and objectified.
  Sarah should quit because she is being treated unfairly due to something that is not “job-relevant:”..
 If she continues, her attitude towards her work will continue to deteriorate.
 Alan’s observation: the conflict that shes experiencing is due to a wider cultural-political conflict between Capitalism (ie the bank) vs Feminism (ie the advancement of Yin-type ideals and hence also women in general). She can’t escape that conflict

